homework3

HEEKRER (1075Msun) , HBEZEZR (10A11Msun)  EFHE (10 14Msun)PEIEESR
B, SRS IRAT TR
M = 50°R./G.

V2=GM/R RE: BRREH (Tpc) , HEER (1Kpc) EFRHE (1Msnpo)
G = 4.301x1079 km2 Mpc MSun~1 52

leb
lell
= leld
[le-6, 1e-3, 1]
= 4,301*1e-9
£ v(m, cdu) :
return (mkg/5/cdu)**0.5

Il > 0
Il

m_
m_
m_
R
g
de

v_q = v(m_qg,R[0])

print ("EAREFEEIREE ", v_q, km/s’)
v.t=v(m t,R[1])

print (" [F 2 RIEEIRECE 7, v_t, km/s’)
v.x = v(m_x,R[2])

print ("B RBEEREE: ", v_x, km/s)

BROWR R [ BE YRR RE : 9. 274696760541556 km/s
W6 R B & B R BRE . 293. 29166370696595 km/s
B AR EEIREE : 293.29166370696595 km/s

SRHETR teross = RV
107 Mpc= 1pc = 3.0857x1013 km

def v(v_, cdu):
return cdu/v_%*3.0857%10e13/3600/24/365

t_g = v(v_g,R[0])

print ("EAIREMR] 7, t_q, Myear’)

t t = v(v_t,R[1])

print "HAEI B &7, t_t, Myear’)

t x = v(v_x,R[2])

print "E RPE 7, t_x, Myear’)

FRARE A 1.054987647041832 Myear
MR & 33.361638679939894 Myear
A ME: 33361. 6386799399 Myear

§lﬁi‘%ﬁﬁﬁ? trelax = N/(6ln(N/2))tcross
RIFE: BRIRER (10°) , EER (10" E2RA (103)

import numpy as np
R = [le5, lell, le3]
def v(t_,n):
return n/ (6%np. log(n/2))*t
t_ql = v(t_q,R[0])
print ("ECIRAEHR 7, t_ql,’ Myear’)
t t1 = v(t_t,R[1])
print MBI E &K:7, t_tl, Myear’)



In [6]:

Out[6]:

In [ ]:

t_x1 = v(t_x,R[2])
print ("B ZH®E:”, t_x1, Myear’)

BOIRAE M. 1625. 0912900897345 Myear
I 2 &R 22570358922, 519417 Myear
2R M 894710. 1772571945 Myear

homework4

3*np. sqrt (2)*40000/4. 301/ 1eb

0.3945724889206496



